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General Instructions

. The question paper consists of two sections.

. Section A is compulsory for all.

. Section B shall be attempted as per the chosen wing.

. All questions are compulsory.

. The paper consist of 01, 02, 03, 04 and 06 mark(s) questions.

. The answer to 02 mark question should not exceed 50 words.

. The answer to 03 mark question should not exceed 100 words.

. The answer to 04 mark question should not exceed 150 words.

. The answer to 06 mark question should not exceed 250 words.

OCOoONOOOPR,WN -

SECTION-A Total Marks: 49

Q.1: Answer these questions as required.
AATFHATIAT =T AT HT 3L 3

(i) When was the National Integration Council constituted? (1)
1.1947
2.1950
3.1962
4.1961

TSI UHdT US &7 T4 e ohIT 9T 9772

1.1947
2.1950
3.1962
4.1961

(ii) A word of command, to close the drill temporarily is given to a body of cadets
required to fall in again after a stipulated period is known as ------------ . (1)
1. Dismiss
2. Falling out
3. Visarjan
4. Salami Shastra

FT T Ueh 9Tsg, ST 31 &7 ATl &9 ¥ §€ Fiveh (MeTa Tatd & a7a (6 § BlA-39 6



(iii)

(iv)

(v)

(vi)

(vii)

Maximum range of .22 rifle at 33° angle is 1700 yards. True or false. (1)

.22 T 6T sAfersma AT 330 FI0T 9T 1700 T g Tat J7 T

The expansion of MPl is - (1)
1. Maximum point of impact

2. Minimum point of impact

3. Most point of impact

4. Mean point of impact

MPI T FFeqT B -

1. AT FT ATTHAH (95
2. TTE T AqH feg
3. FATTEE A1 1 46
4. g7 F7 S g

Parents deciding on the duration of the vacation to a hill station after discussing it
with their children. What is this way of communication? (1)

1. One way communication

2. Two ways of communication

3. Three ways of communication

4. Aggressive way of communication

HATAT-TOaT Ue B T2o9 U2 GEr T TaTer I 97 TGl o AT FAT FLel 6 q78 [+ T o g
TATT T T T AT TLHT 872

1. T TR 991

2. T LRI §ATT

3. T T 59T

4. GHTT T SATHTHE T
Fill in the blank :
(1)

The two major characteristics of Rifle .22 are and

= T oR-
22 YAl MEferiad &1 i@ [uarg g - #e

Equitation of citizenship can be acquired by - (1)
1. By Birth
2. By Descent
3. By Registration
4. All of Above

AT &l ZITee 33T ST Jhd T 8-
1.0 |



2. it g
3. IS(sheoT g7
4. 39T gy

(viii) Which one of these is not a characteristic of a good citizen?

(ix)

(x)

(xi)

1. Sense of duty

2. Service before self
3. Self service

4. Patriotism

TAH T FIA | U 35 AN hl (SQ0aT 7l 872
1. T HT T

2. TF | Ug |l

3. T & Far

4, zref<h

National Integration Camp is now known as-
1. ECSB

2. ASSI

3. EXERCISE YOGDAN

4. EBSB

TP THAT TATET & 36 9717 | ST 7T 8-

1. ECSB
2. ASSI
3. EXERCISE YOGDAN
4. EBSB

The full form of CFCs is -
1. Carbon Florine carbons
2. Carbon fluorocarbons
3. Chlorofluorocarbons

4. Carbofirstcarbons

CFCs T fa=qme =+ -
1. FTET FARNT FTaT

2. FTAT AR

3. FATUFATLRTEH

4. FTITHES FTaH

Which leadership style out of these is considered to be ideal?

1. Autocratic
2. Democratic
3. Laissez Faire
4. Coercive

= | T e AT T ArEel HET S[Tar g2

1. g

(1)

(1)

(1)

(1)



(xii)

(xiii)

Q.3.

2. ATHATAF

3. AT ®TAT
4. SaTEEdt

Which one of these is not a type of artificial respiration?
1. Holger-Nielson Method

2. Schaefer's Method

3. Mouth to mouth respiration

4. Thomas Method

TAH H AT GT FOT TG HT UF THL Aal 52
1. grenTE-ATea fafer

2. TR fafer

3. g & 919 T

4. otwe fafer

One of the component of ecological system is -
1. Antiseptic

2. Abiotic

3. Probiotic

4. Anti-biotic

TRt JorTett °F Hew W H U g -
1. tdraftes

2. ASTAF

3. JraTAeE

4. udr-arafes

Explain the following fundamentals of national unity -
1. Common language

2. Removal of Communalism

3. Removal of Regionalism

TTE TR o e g fRrgtat i e w7 -
1. FTHTT AT

2. FTIRTTARAT T geTd1

3. EAATE Al ZaTHT

Explain the following terms :

1. Visarjan (dismiss)

2. Line tor (fall out)

3. How is line tor’ different from ‘Visarjan’

et ggt 1 auiq fife -
1. faaete
2. AT IS

(1x3)

(1x3)



Q.4:

Q.5:

Q.6:

3. 'ATeA dIg ‘F faesia o Tenr g

Read the paragraph and answer the questions given below. (1x3=3)

The NCC cadets volunteered themselves to perform the National duty to fight
COVID-19. This process was named as 'Exercise Yogdan'. The guidelines for this
temporary deployment of the cadets were issued by the DG NCC. Only Senior
Division volunteer cadets above 18 years of age were deputed in different areas.
The deputed NCC cadets were divided into groups under the supervision of
Associate NCC Officers. The NCC cadets were assigned the tasks of manning of
the helpline, call centers, distribution of relief materials, medicine, food, essential
commodities, and traffic management. According to guidelines, they were not
assigned the job of handling law and order situations. They were also not deputed
for active military duty and at hotspots.
1. Which volunteer NCC cadets were deputed to perform the duties to fight with
COVID-19?
2. Who supervised the different groups of NCC cadets?
3. Which job was not assigned to NCC cadets to fight with COVID-197?

AR T U i A= 2w rw vt & 3w )

COVID-19 & =+ % forw NCC #2321 7 TE =T AT gq T3 94T #Tl =6 T0RaT 7
TFILETES TRTETH ATH T T3 et i 37 et qaTdt & o Ut agrHers
g7 fReraer ST 0 10 o) =9 ¥9TE ¥, 18 99 F ATe o & had s Hed &
TAAEAE heel H gl I Afs et & v w2 o afafegs uaehef 2=t #r
THITHUE TAHTET AT 6T S@vE § Tl § faariord 3T T3 om UaEET Seed il
SOTATEH, i Hew, Tgd ATl & fFaeor, Tar, S, ATa9a® aeqel, i Irarard Seaee
& AT 0 T 797 Aq7| TermAden F oA, I A S SFGEdT wf RAfaTt w FAT
T HTH Aol ST TAT AT| Ivg, TR T ST T Fleedied | AT T HI<h dal (g7 T3T
oT|

1. 9 q TFIHAT UAHTEHT F22t %7 COVID-19 & 7=+ * forw afafas fram a2

2. UAHTHT eel & At aggt #f At e 12

3. COVID-19 & FETE | UAHTHT heeq [ &I |1 ST Tgl AT T = ?

What are the main components of personal hygiene? (3)
OR
Which articles are needed for dressing of wounds?

ST ET=adT & q&d Heh F47 82
EREN
HTET T ST o forw e | JTRiT SraeTeF 872

Explain different styles of communication. (4)
OR
What are the main time wasters? Discuss.

=T Fr At aferat Fr sareaT Fifterm
EPEI



Q.7

qHT TG FHA ATeAT T Aot F4T 62 T4 A7
Read the passage given below and match the correct options. (1x4=4)

The NCC is a voluntary organization under the Ministry of Defence. Its overall in-
charge is the Defence Secretary, who is responsible for the efficient functioning of
the NCC and other matters in India. At the Headquarters level, this organization is
headed by an officer of the rank of Lieutenant General who is responsible for the
functioning of the NCC in the country. There are 17 Directorates located in the
state capitals headed by an officer of the rank of a Major General/ Brigadier or
equivalent from the three Services. Depending upon the size of the state and
growth of NCC in the states, Directorates have up to 14 Group Headquarters under
them through which they exercise their command and control of the organization in
the state. Each group is headed by an officer of the rank of Brig/ Colonel or
equivalent who is known as the Group Commander. Each NCC Group
Headquarters controls 5-7 NCC units/battalions, commanded by Colonel/
Lieutenant Colonel or equivalent. Each battalion consists of companies which are
commanded by the Associate NCC Officers (ANO) of the rank of Lieutenant,
Captain or Major.

(i) Match the following: (V2x4=2)
1. Lieutenant General (a) Group Head
2. Brigadier (b) Company Head
3. Colonel (c) State Head
4. Major (d) Head-quarter
(i) What is the first rank of ANOs after Commission? (1)
(i)  Who is the overall in-charge of NCC in the country? (1)

I & T GEST 7 9 S Tel fAswedt v Her #wY

TAHTHT YT HATAT F dgd UF T >0 9959 gl SHh THT T 77 q=e 8, ST A7
H UAEHT ST AT ATHAT F FOA FTHRTS F (70 DA gl TEATAT TqL I, Tg TS,
ATHere AT o ¥ o Ueh ATAHRTIN o Aqcd § FTH FLAT g, ST <97 H TALTEHT F FTHERTST F
oo SrEr 21 oo i aeat=ET #§ 17 Fearera Rua g, e semsar uw aee
ST/ TR T o o= A7 i1 TaTel o qHeher ATHRTET Fd 8l ST & AT 3 TS Al |
UAHTHT T gig * e ux, FHaemert & a9 14 998 T« d 5, oEs Areaq 4 9
T § STOHT FHTT T G T HIAT Fd gl TAF THg T Aqcd ST/ FAd i
T FHHE ATHRTLN GILT AT SATAT g o8 T FAEL & T H SET SATAT g1 T TAETET

T HEATAT 5-7 UAHHT TR/ derferadt s FEtra wwar g, et #AHE = al
Afade Faol AT THEE & T BT gl T FeTterdd § UHT HIAAt aieer giat g ot
FHIA ATHeAE, Fead IT AL o < o THITHUE TG A Thad (ANO) & 9TH gl 2l

(i) T=fertaT = e w=2-
1. Af¥ede ST (a) qT 2=
2. frifeTw (b) FTt T
3. T (c) Tz e




Q.8:

Q.9:

Q.10:

4. T7E (d) T

(i) =T % a1g ANO T T8« ¥ 4T 872 (1)

(i) ToT H UAETET T THT TATL I 82 (1)

Describe various methods of corruption. (4)
OR

Explain the measures to prevent female foeticide.

TITATL F TR T JUIT FIior|

AT
FeAT T gcAT Tl Lehel o SITT FqTU

“Obstacle training prepares cadets to face challenges of life”. Justify your answer

with suitable examples. (6)
OR

Write in detail about the safety tips advised by the Parasail Safety Council.

“TTET TTALAT FiSel T ST 6 FATAIT BT FIHAT FHI 6 [oIT TATT FIAT 871 ST
IATELN o HTY T 3L T Al g0
ATAT

TTE AR FISTHA GIT TATg &F T2 GLeAT AT 6 a8 7 foeae & o)

Write short notes on the following- (2x3)
1. Importance of drill.
2. Wrong practices during the drill.
3. Important characteristics to perform drill.
OR
Explain the procedure of ceremonial drill in detail. (6)

rforfera o= gfer feoofy ferfer-
1. B« &1 7=

2. 391 % S T T T

3. B # & forw ggcaqet AT

RN

qqIae fgor &t 9fehaT % a § foeaw 7 aqm)

A




Q.11:

Q.12:

Q.13:

Q.14:

Q.15:

Q.16:

SECTION-B
ARMY WING

é Symbol is used for which of the following?
1. Pagoda
2. Temple
3. Mosque
4. Church

EiET é = & foreren forT s o Sstrar g2
1. ferare

2. #faT

3. gftsa

4. 99

The weight of 7.62 mm MMG is -
1.14.1 kg
2.14.2 kg
3.14.3 kg
4.14.4 kg

7.62 mm MMG #T 3919 ¢ -

1. 14.1kg
2. 14.2 kg
3. 14.3 kg
4. 14.4kg

Explain cardinal points.

FTTEeer et 1 =me #3)

What is the difference between grid north and magnetic north?
e 3T T Faeahia I & A= 7T ¥ 872

What is the Caliber and effective range of 5.56 mm INSAS Rifle?
5.56 THHT T8TE TEHA T Hiora< sfiT TATet I 747 872

Answer the following :
1. Who designed the Paramvir Chakra?
2. To whom first Paramvir Chakra was given?
3. Describe the design of Paramvir Chakra.

o

Aot 397 3-

1. wHET =9 e B T e
2. I\ qHE T =9 ey o= or?
3. TRHAIT T & ST #7997 F

Total Marks: 21

(1)

(2)

(2)

(1x3)



Q.17:

What are the advantages and disadvantages of Line Communication? (3)

TS FHELADIT F RIS AT THATT FAT 2872

Q.18: Give modes of entry in IMA. (3)
IMA ¥ 9T & qTeh aarat |
Q.19: What are the methods of judging distance? Explain any two. (2+2)
OR
Define section formation. How many types of section formations are there in
army? Explain Diamond Formation. (1+1+2)
T T SQTSAT AT o qLieh T &2 Tohelt &1 7 JaeATe|
HAIAT

TFT BIHIA T TRATIOT FL | FAT | Tohaqe TR F qF9T BIHAT 82 STAHS B 6T
FTEAT X

AIR FORCE WING
Max-Marks: 21

Q.11: Name two IAF aircraft involved in the 1971 air campaign. (1)

Q.12:

Q.13:

1. MIG 21s & Jaguar
2. Gnats & MIG 21s
3. Rafale & S-400

4. SU-30 & MIG 27

1971 % ZaTs ATHATH § TR &7 IAF 91T 3 910 Farzw|
1. MIG 21s 3T ST
2. Gnats 3T MIG 21s
3. T ST T -400
4. SU-30 3T MIG 27

Which one of these is the youngest of the three defence services? (1)
1. India Air Force

2. Indian Army

3. Indian Navy

4. Indian Administrative Services

TAH H A | AT HAT T AT 2

AT AT &7
ATEA T TAEAT

T AT I

> bh =

o o
BIESIERHICIGENRSE]

What are the basic elements required in a map? (2)

U AT § i F A qeal f aedwmdl g2



Q.14:

Q.15:

Q.16:

Q.17:

Q.18:

Q.19:

Q.11:

Q.12:

Write down the layers of atmosphere. (2)
ATIHSA T TXdl &l (o1 |
Name any two Indian manufactured aircrafts in Indian Air Force (2)

AT AT |47 & et oft 27 et Rfea f{emet & /@ aareu)

What do you mean by radar? Explain any two types of radar. (1+2)

LT H 3T T GHA 82 TSI 6 TohelT T &7 o1 T AT 1

Enlist any six general safety codes to be followed in aeromodelling flying (3)

TALTHISORT IS H AT LEAT HI qarsul

What are the movement areas in an aerodrome? Explain any two of them. (1+2)

U TUSH | Z4hd o &7 I F 82 TAH & Theal &1 T F0I9 it

Define ATS and briefly write down its objectives. 4)
OR

What are the four forces acting on an aircraft in flight? Explain with the help of a

labeled diagram.

ATS =T afeaTiud 3 s e § 28 Izt 1 ford|
ERLCH

ST H Ua [GH 92 FTH FLd a7l AT T I | g 2 ATHIohd S0 il 988 F HATUI

NAVY WING
Max-Marks: 21
How many persons can be carried by a Dinghy boat? (1)
1. 2
2. 4
3. 6
4. 8
=T 913 g foha=r =fRat T o SITAT ST 9T 872
1. 2
2. 4
3. 6
4. 8
The total number of oars used in whaler is - (1)
1. 3
2. 5
3. 7
4. 9



Q.13:

Q.14:

Q.15:

Q.16:

Q.17:

Q.18:

Draw a labeled diagram of an anchor. (2)

T U &7 ATHI R 3 a7

Write any four common causes of fire. (2)

AT T o 1S FATC AT FH107 forfem)

Write any two principles of power tool maintenance. (2)

TaSTeT STl TELETT 6 Tohral &l (HGidl il g

Explain any three in brief about naval customs and traditions . (3)
. Coloors

Sunset

Dressing ship overall

Piping the side

Line ship ceremony

. Crossing the time

AT % SfQ-Rarsit sl wdu=ret a1 § el d i i "tera sreat S

-
T TS ol ST
e I THAT
dlgd viglst dHlg
HT HT ITT FLAT

N

o bk wN -

What are the anti-submarine weapons? Explain any two. (1+2)

agedt Tt g FAT 87 Fhegl &1 &1 avia Ao

Explain the meaning of flag position of following letters about communication
(any three) (3)

OUAWN
STOIMW

=TT & A o et 7=t £ eawr Rurfa &7 onf aqmd) (@1 §i9)

2Bl i
STOIMW



Q.19: Define the following : (1x4)
1. Nautical mile
2. True course
3. Knot
4. Pilotage

Aot 1 afeariug #¢
Tl Hie

zHE

STETST HieT

TS

o=

*****E N D*****



